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JE B 3 3.0 6.0 48.2 356 625 D PR 8.0 1.8 6.7 004 1.00 A
EE R 1 2.7 6.5 450 445 625 D WA AR 8.8 8.4 14 009 225 B
BB~ Ak 2.1 2.9 236  3.69 500 C E Folok Bk 82 N.D. ND. 0.08 100 A
Hoke ok 4.1 22 245 224 400 C | -k EREY 9.2 ND. 26 008 1.00 A
o ¥ 68 ND. 174 ND. 100 A | % i N AR 8.6 N.D. 12 006 1.00 A
<R 8.4 1.5 184 ND. 1.00 A it 9.0 1.8 20 0.04 1.00 A
FATEk T 11.2 2.3 82 ND. 1.00 A ¥R A 8.2 1.7 ND. 003 100 A
ZHA 9.3 12 101 012 1.00 A F A 9.7 ND. 15 004 1.00 A
LR 13.6 5.9 226 076 325 C LA AR 8.6 1.1 2.7 003 1.00 A
A 2.8 5.3 136 412 575 C 4 £ A 8.9 1.8 22003 1.00 A
ATis XA 1.4 8.3 255 7.68 725 D a AR 8.8 1.2 10.1 0.06 1.00 A
ERSLFLN S 9.7 N.D. 1.2 004 1.00 A E 4 F i 2 EAR 8.3 2.0 93 006 1.00 A
= =R 5.7 15.3 12.3 295 500 C IS Gl 3o 85 N.D. 34 005 100 A
B2 9.1 1.1 33002 1.00 A [ % X g% 7.6 3.4 77 004 150 A
[ £23 9.5 1.6 72 ND. 100 A LR — - -
+ g 81 ND. 9.6 004 1.00 A ERD - — — - -
FED A 8.2 1.6 7.1 0.10 1.00 A 45 9 6.5 8.1 90800.0 0.59 500 C
% 9 X 7.8 2.6 156 041 1.00 A ZEA 55 ND. 27300 021 375 C
Ny 13 5.8 2.7 415 062 250 B <N 6.8 N.D. 3340 017 325 C
Y T 5.4 6.2 472 124 450 C LRET 6.5 N.D. 3790 020 325 C
£k 4.1 10.3 58.3 1.66 6.00 C i ] 5.6 ND. 1420 053 425 C
WG 8.5 1.3 116 003 1.00 A | = Tk AR 40 ND. 741 057 400 C
B3 A 8.3 1.3 145 043 1.00 A E o AR * 49 N.D. 29.2 028 200 A
LS 7.3 2.1 234 036 150 A | -k = R AR 72 1.6 373 016 150 A
flid 7.1 1.8 204 035 150 A & 3 108 4 4 52 ND. 3600.0 0.09 375 C
e 8.5 2.7 22 002 1.00 A ER-RY 72 1.0 1450 010 325 C
Gk D 78  ND. 22 ND. 100 A ¥ 7.1 19 1500 09 375 C
UE¥: 7.7 2.9 46 059 150 A BEF < A 5.2 2.3 534 1.54 400 C
oL Af 6.9 3.4 69 029 150 A FTE A M 79 ND. 465 001 150 A
=AM 3.2 3.9 21.9 1.87 450 C B Y 7.6  N.D. 784 0.02 225 B
7B 5.0 28 342 056 250 B L 77 ND. 1930 ND. 325 C
AU 6.4 5.9 48.5 1.20 450 C 1 44 49 10.0 332 652 550 C
ER-RY 13 5.2 6.6 590 117 525 C X i 78 ND. 1810 005 325 C
EEY: 13 32 4.8 52.0 140 525 C u Rk 2.6 7.2 142 345 575 C
S 4 Ak 2.0 64 355 178 525 C 7Bk 76 ND. 107 ND. 1.00 A
R o1 1.5 49 16.3 320 600 C 3 2 74 1.6 1700  0.08 325 C
¢k 1.1 3.6 117 314 600 C | & TR — — — - - =
R 0.7 4.6 162 460 600 C E 3 RTHE B M 9.0 1.3 148 0.05 1.00 A
AR A 8.6 ND. 20 005 100 A | -k 5 R - - - - =
£ (RN 8.4 N.D. 1.6 005 1.00 A J % LY 7.4 1.5 1200 012 325 C
ki F i 8.0 2.1 6.5 008 100 A
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